20. 0 =109.47°,250.53°

21(a) y-int: (0,—5/2).

z-int’s: (5,0) and (—1,0).

21(b) y = 3(z — 2)* — 5, Vertex at (2,

9
2 ) _§>
Y

21(c)
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1(a) C.  1(b) B.  1(c) B. 22. (z—2)(z+2)(2x = 3)
1(d)D.  1(e) C.  1(f) B, 23. (3x §§)+(9gr2 — 62 + 4)

2. D. 3. B. 4. B. 5. C. 24.
5(z —2)(z +2)
6.B. 7.D. 8D 9 A v S
10(a) B.  10(b) A 2. S = s
1(a) F.  11(b) F 9. T2
2x
11(c) F. 11(d) T.
r @ 27 20U
12. 25 = Va7 13. 2 =09. 14. z = 32. 28(a) u = L
RS
15. 4038 16. —117/6 28(b) z i% 3
17 Y 28(c) z =In(1),In2
29(a) y-int: (0,—3), a-int: (4,0).
29(b) Vertical Asymptote at x = —4.
P2 |
. o 1 \/i
18. sin(—3w/4) = —5="%
19. Y
\ .

30(a) (3z + 1)(3z — 2)

30(b) z = 2/3.

31. 0 ~ 36.80°.

32. 3.7Tm

33(a) 5m quad 33(b) 9m  33(c) 5 seconds.
34(3) $2874 52 34(b) 6.73 years.

35(b) = ~ 2.03m



